v CAN / CAN'T
v THERE IS / THERE ARE
v HOW MUCH / HOW MANY




ENGLISH CAN / CAN'T \\m

CAN/CAN'T
(Yapabilmek-gucu yetmek) “Can”in olumsuz halidir. Bir isi yapmasini bilmi-
yor veya o isi yapmaya giiciimiiz yetmiyorsa bunu

“Can” birlikte kullanildigi fille yapabilmek, giicti
“can’t” ile ifade ederiz.

yetmek anlami katar. “Can” fiillerin sonuna “-ebilmek”
anlami katan bir yardimci fiildir.

Yapmasini bildigimiz, veya yapmaya giictimiiziin
yettigi eylemleri “can” ile birlikte ifade ederiz.
Ciimlelerde “can” fiilden hemen 6nce yer alir.

I can play plano. >
i

=

7

They can’t speak Turkish.

Birisinin bir seyi yapmasini bilip bilmedigini
sorarken ya da bir seyi yapmaya giiciinin yetip
yetmedidini sorarken kullaniriz.

S S
@Fan you play violin? >
— —

‘can” kelimesinin diger sahislarla birlikte kul-
laniminda herhangi bir degisiklik olmaz.

| He: Haiki Salidir © |

-
~ Can you ride a horsa?
t.__‘ -
4‘) @0 D,

(0

They can ride bike.

To be } |T3_J




“It can fly.”

Yukaridaki ifade asagidaki secgeneklerden
hangisi igin sdylenmistir?

A) B)
£ . s -
-t
e
C) ,ILPE; ; - D)
K r"“-sf 1_; ,'. : =

Cumlede “O ugabilir’ denmektedir. Balik, fiil ve kedi
ucamaz. Segeneklerde ucgabilen hayvan sadece
“kusg”tur.

__Dogru yanit “D“ secenedidir.

P

Asagidaki ifadelerden hangisi yanhstir?

A secenegindeki kaplumbagda “Ben hizli kosamam”
demektedir, dogrudur. C sec¢enegdindeki yash adam
“Ben basketbol oynayamam” demektedir. Adam bas-
ketbol oynayamayacak kadar yashdir. D segenegin-
deki kus “Ben ugabilirim.” demektedir, dogrudur. B
secenegindeki ¢ocuk “Ben oniki yasindayim. Ben
araba kullanabilirim.” demektedir, yanlistir. Oniki
yasindaki bir gocuk araba kullanamaz.

Doadru vanit “B* secenedidir.

Asagidaki bogluklardan “can” ya da “can’t” kullaniniz.

1. Semrais very tall. She ............ play baske:ball.

2. |tis very cheap. You ....... buy it.

3. Ahorse ...... fly.

4. The suitcases are too heavy. | ....... carry them.

5. I'm very hungry. | ........ eat everything.

6. My sister is two years old. She ....... read a
book.

7. They are very rich. They ...... buy a new car.

214

8. My mother has got a driving licence . She ......
drive car.

9. She is from France. She ........ speak French.
10 you swim?
1. Birds ..o speak.
12. He is very busy. He ............ come with us.
13. She has got a guitar. She ............ learn playing it.
14. He is blind. He .......... see you.

15. Superman .............. fly.

Can/Can’t



English

6. Simif

<2 {etkinlik

atkinlik

Tabloyu inceleyiniz ve bosluklarda can veya can’t kullaniniz.

English| French | Guitar | Vialin | Swim | Ski
Selin v v | ¢V
Sertag v v v
Ceren v v v
":H ner « « «
1. Selin ................ speak English, but she .................... French.
2. Sertag .............. play guitar, buthe ................ play violin.
3. Omer ............... speak English, but he ............... speak French.
4. Ceren ........cc..... swim, but she .................... ski.
5. Omer and Ceren ............... play guitar, but they ............. violin
6. Sertag ............... speak English, buthe ................... speak French.
7. Selinand Ceren ................ ski, but they ......cccevienne swim
8. Omer ............... swim, but he .........cccceue. ski.
9. Selin ............... play violin, but she .................... play guitar.
10. Sertag ................ swim, but he .......ccceeeinnnne ski.
Can/Can’t }
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6. Sinif English

etk pflkinlik

Verilen ifadeler ile resimleri dogru olarak eglestiriniz.

can’t run fast

A cat
%‘g can give you milk
A butterfly
- can speak
[ D ﬂ" .
A turtle
Mr can catch a mouse
A cow
1> 3
can swim
A parrot
can't live long
A fish
&
= can give you honey
AN
K
A chicken
R
. can fly
W
A chameleon
can give you eggs
A dog
M can keep your house
Ahorse
—
* can change its colour
A bee
= can carry you
224
A bird

216 Can/Can't




English

<4

6. Sinif

etkinlk ~ ~ pfkinlik

10.

Ababy ... read a book.

My father ............. speak French, but my mother ..................

Afish . fly.

The water is very cold. You ............... swim now.

Anil and Ozlem are very tall. They ................ play basketball.

Canan is very tall. She ............... play basketball very well.

Selen is a hardworking student. She .................. answer your questions.
Apenguin ................. climb a tree.

................... she sing?

Cihat is very strong. He ............. lift the table.

Can/Can’t




6. Sinif

English

<5 etkinlik

Asagidaki resimlere bakarak ciimleleri tamamiayiniz.

ptinlii

i ey e e
=== e

i
=

...... solve the problem, because it is too difficult.
&F
A1) pevecoros drink it, because it is too hot.

i Can/Can’t )




English

6. Sinif

etkinlik

Asagidaki sorular kendinizi ve yakinlarinizi diigiinerek cevaplayiniz.

1.

10.

1.

12,

13.

Can you read?

Can/Can't e



6. Sinif

¢0ZOMLO OLCME
DEGERLENDIRME - 1

1. Asagidaki ifade hangi segenektekteki resim
icin sdylenmistir?

“He can run fast.”

N B B)

2. Asagidaki ifade hangi segenekteki resim igin
sdylenmistir?

“It can’t swim.”

(3 - 4) sorularda verilen resimlere en uygun
ifade hangi segenekte verilmigtir?

A) He can't play basketball.
B) She can't play basketball.
C) He can play basketball.
D) She can play basketball.

lzzoj

| Her Ha ki Sachdir ©

Engtish

A) They can ski today.

C
D

)
B) They can go on a picnic today.
) They can swim today.

)

They can't ski today.

(5 - 6) sorularda karsilikl konugmalarda veri-
lebilecek cevaplar g6z o©niinde bulundurul-
dugunda hangi segenek digerlerinden farkhdir?

A) ~Toan Hakan 5;,-]:.1.?’
. play football? . — ~

B) ~Tan you pﬁa;-"' \
b guitar? .

L]
C) 'ﬂé;'.-fnur brothar=,
" 'n!l!il*"l' PR R

N —
D ¥ e 2

D) Can an eaghe fy? e ————

| Can/Can’t



English

e
A) Wiy we can't
| pley besketball®/

Py — Becausa, il 15

B) ~Wmy you cant™,
gt your 5:::1..!:?

~ Because, It is ™
3 '.DG eramranre s

D} ~Pecause, It B,

e O -

—

.’Wlw you can™y, L/

S\ oush it?

(7 - 12) sorulari agagidaki tabloya gore ce-

vaplayiniz.
Swim
Askin ‘*
Girkan
Asuman y 1
Serkan -

7. Can Giirkan swim?

A) No, he can.
C) No, he can't.

Can/Can't

—

>

Ski Skate
*

* K
x

B) No, she can'’t.

D) Yes, he can.

| Her Hakhka Sakhdir @

10.

1"

12.

6. Sinif

Can Asuman and Giirkan ski?

A) Yes, they can. B) Yes, she can.
C) No, they can't. D) Yes, they are.

Asagidaki segeneklerden hangisi yanlistir?

A) Asuman can swim.

B) Askin and Giirkan can skate.
C) Serkan can ski.

D) Girkan can’t swim.

Asagidaki segeneklerde verilen ifadelerden
hangisi yanlistir?

A) Askin can swim, but she can't ski.
B) Girkan can ski, but he can’t skate.
C) Serkan can’t ski, but he can skate.
D) Asuman can't skate, but she can ski.

. Asagidaki ifade kim tarafindan soéylenmisg

olabilir?

“l can’t swim.”

A) Asuman B) Askin
C) Girkan D) Serkan

Asagidaki ifade kimler tarafindan séylenmis
olabilir?

“I can’t ski.”
A) Askin/ Asuman B) Yalniz Serkan
C) Girkan / Askin D) Serkan / Askin

221



6. Sinif English

13. Asagidaki ifade hangi secenekteki resim igin 16. Afish .............. in the water.

sbylenmis olamaz? 5

A) can walk B) can’t walk

A eyeansyaly C) can swim D) can not swim

A) - 12 B)

C) D)

17. 1am English. | ......................
i A) can speak Turkish.

14. Asadidaki resimdeki kiz segeneklerden B) can't speak English.

hangisini soylemis olabilir? C) can speak German.

—_— D) can speak English.

Her Hakki Sakhdir

A) | can't hear. B) | can't see.
C) | can’t walk. D) | can see.

18. Asa@ida verilen resme gére segeneklerdeki
15. Asagidaki ifade segeneklerdeki resimlerden ifadelerden hangisi dogrudur?
hangisini ifade etmektedir? !

“It can climb the tree.”

A

A) He can piay football today.
B) He can’t go to school today.
C) He can swim today.

D) He can ski today.

222 — . Can/Can't



English

COZOMLER

Verilen cimlede “O hizli kosabilir.” denmektedir.
A seceneginde bir kiz vardir. Oysa climlede
“He” kullaniimigtir. B segenegindeki adam ¢ok
yash oldugu icin C segenegindeki gocuk gok
kilolu oldugu igin hizli kosamaz.

Dogru yamt “D” segenegidir.

Verilen cimlede “O ylzemez.” denmektedir.
Timsah, balik ve balina yuzebilirler. Bu cimle A,
B ve D segenekleri igin sdylenmis olamaz.
Tavsan ylizemez.

Dogru yanit “C” segenegidir.

A ve D segeneklerinde 6zne “He” dir. Resimde
bir kiz oldugu igin bu secenekler dodru olamaz.
D segeneginde “O basketbol oynayabilir.” den-
mektedir. Kizin kolu al¢ida oldugu igin basketbol
oynayamaz. B segeneginde “O basketbol
oynayamaz.” denmektedir.

Dogru yamt “B” segenegidir.

B segeneginde “Onlar bugin piknige gidebilir-
ler”, C segeneginde “Onlar bugin yuzebilirler’
denmektedir. Resimdeki hava ne piknik igin ne
de yuzmek igin uygun degildir. D segeneginde
“Onlar bugiin kayamazlar.” denmektedir.
Kaymalari igin resimde bir sebep gérinmemek-
tedir. Dogru yanit A segeneginde “Onlar bugin
kayabilirler.” seklinde verilmigtir.

Dogru yamt “A” segenegidir.

A segeneginde cevap “Yes, he can”, B segene-
ginde cevap “Yes, she can”, D segeneginde ce-
vap “Yes, it can” olmalidir. Bu ¢ segenekte de
cevaplar olumludur. C segeneginde cevap “No,
he can’t” olmalidir ve olumsuzdur. Farkli olan
secenek C'dir.

Dogru yanit “C” segenegidir.

A, B ve D segeneklerinde sorulan eylemlerin ya-
pilamamasinin sebebi “sicak’tir. Bu li¢ se¢cenek-
te de bos birakilan yerlere gelebilecek uygun
sifat “hot” olmalidir. C segeneginde ise kiz hava
soguk oldugu igin digari gikamaz. Bos birakilan
yere gelebilecek sifat “cold” olmalidir. Farkli
olan segenek C'dir.

Dogru yanit “C” segenegidir.

Girkan bir erkek ismidir. D segeneginde “she”
kullanildigi igin yanlistir. A segenedi olumsuz
baslayip olumlu devam ettigi igin yanlistir. D
segenedi tabloya gére yanhgtir.

Dogru yamt “C” segenegidir.

rakla Sashdir = |

| Her

10.

1.

12.

13.

14.

15.

16.

17.

18.

6. Sinif

Soruda “Asuman ve Gurkan” denmektedir. Yani
O0zne ¢ogduldur. B segeneginde “she” tekil 6zne
kullanildigi igin yanlistir. Soru “can” ile sorul-
mustur. D segenegi “can” degil “are” kullanildig
icin yanlistir. C segenegi tabloya gére yanhsgtir.

Dogru yamit “A” segenegidir.

A secgeneginde “Asuman yuzebilir.”, B segene-
ginde “Agkin ve Gilrkan patenle kayabilir.”, D
seceneginde "Gurkan yuzemez.” denmektedir.
Tabloya gore bu Ug ifade dogrudur. C sege-
neginde “Serkan kayabilir’” denmektedir ve bu
ifade tabloya gore yanlistir.

Dogru yanit “C” segenegidir.
B segeneginde “Gurkan kayabilir, fakat paten

yapamaz.” denmektedir. Tablo incelendiginde
Girkan’in paten yapabildigi gérinmektedir.

Dogru yamit “B” segenegidir.

Verilen climlede “Ben ylizemem.” denmektedir.
Bu cimle ancak Gurkan tarafindan séylenmig
olabilir.

Dogru yamt “C” segenegidir.
Cimlede “Ben kayamam.” denmektedir. Bu

cumle Serkan ve Askin tarafindan sdylenmig
olabilir.

Dogru yamit “D” segenegidir.
Cumlede “Onlar yiriyemez.” denmektedir. A
seceneginde “Bebekler heniiz yiriyemez.”, C
segenegindeki “hasta ayagi kink oldugu igin
yuriyemez.” D segenegindeki “kiz yurlyebilir”,
fakat cumledeki 6zne (They) ¢ogul oldugu igin

verilen cimle D segenegi icin sdylenmis ola-
maz.

Dogru yamt “B” segenegidir.

A segeneginde; “Ben duyamam.”, C segenegin-
de; “Ben yluriyemem.”, D segeneginde “Ben
gorebilirim.” denmektedir. Kizin gbzi bagl ol-
duguna gore “Ben géremem.” en uygun ifadedir.

Dogru yamit “B” segenegidir.

Verilen cimlede “O agaca tirmanabilir.” Fil, at ve
kaplumbaga adaca tirmanamaz ama bir may-
mun kolayca bir agaca tirmanabilir.”

Dogru yamit “C” segenegidir.

Verilen cimlede “Bir balik suda
mektedir. Burada “ylizebilir’ denmelidir.

Dogru yanit “C” segenegidir.

Verilen ciimlede “Ben Ingilizim. Ben ... ” den-
mektedir. Bir Ingiliz Ingilizce konusabilir. D sege-
neginde “Ingilizce konusabilirim.” denmektedir.

Dogru yamt “D” segenegidir.

B segenegdinde “O bugiin okula gidemez." den-
mektedir. Hasta kisi okula gidemez.

Dogru yamt “B” segenegidir.



6. Sinif English

OLCME DEGERLENDIRME - | 4

(1 - 4) sorularda verilen resimlere en uygun
ifade hangi segenekte verilmistir?

T A) He can lift the box.
L | can't find my keys. >

oy ——— B) He can't lift the box.
C) He is lift the box.

D) She can lift the box.

-

A) He can open the door.

B) He can drive.

C) He can't open the door.
D) He isn’t open the door.

(5 - 8) sorularda karstlikli konugmalarda bos
birakilan yerlere gelebilecek en uygun ifade
2 : 2 hangi segenekte verilmistir?

|

y x /. an nlnnh_éat‘g..,!f‘f' vy e
E .
e
|
X
]
=4
My —
A) He can pass the exam, but she can’t. A) can't/can B) can/can't
B) He is pass the exam, but she isn't. C) can/can D) can’'t/ can't

C) He can read, but she can't.
D) She can pass the exam, but he can't.

6. — —~ Cn e R
o —
"""" your deughter, - ..., shecan't.

3. wjuﬂi?(/ x"';/—" i
\ h

A) He can ride a bike, but she can't.

L ==
-

B) She can ride a bike, but he can't.
C) They can ride a bike. A) Can't/ No B) Can/ Yes
D) They can'’t ride a bike. C) Can/Can D) Can/No

I 224 | Can/Can’t




English 6. Simf

i 10. “It can speak.”

— A)
<_ you drive a car'_i':>
._\_\&___F

B) Can/ Yes/ haven't
C) Can/ Yes/ have

A) Can/No/ have 3 h

D) Can/No/ haven't

11. “She can buy a new car.”

4

A) B)

D)

A) Can/can't/ early B) Can/can/ early
C) Can/can't/ late D) Can/can/late

| Her Hakk: Sakhidr <

(9 - 12) sorularda verilen ifadeler segenek-
lerdeki hangi resmi ifade etmektedir?

9. “He can play football.” 12. “They can't live long.

A)

C)

Can/Can’t I [ 225




6. Sinif

(13 - 16) sorularda verilen kelime ve ifadeler-

le olusturulan dogru ciimle hani segenekte ver-
ilmigtir?

13.

14.

15.

16.

“English / you / can / speak”

A) You can speak English.
B) English you can speak.
C) Can you speak English?
D) You can English speak.

“a tree / my mother / climb / not / can’

A) My mother can climb a tree.
B) My mother can’t climb a tree.
C) Can my mother a tree climb.
D) A tree my mother can climb.

“short / play / can't / because / too / basketball /
is / she / she”

A) She play can’t, because she is too short.

B) She can't play basketball, because she is
too short.

C) She can't play, because she basketball is too
short.

D) Can't she play basketball, because she is
too short.

“Swim /can /they/?/

A) Can they swim? B) Swim they can.
C) They can’t swim. D) They can swim.

17. Seceneklerdeki resimlerin altinda verilen
ifadelerden hangisi yanhstir?

A) B)  {umEm AN
A

s ith L

] |
Abee can .fl;. . AP ﬁ

C)

He can play violin.

He can't see.

18. Verilen karsihikhi konugsmada bos birakilan
yere uygun diisen ifade hangi segenektedir?

A) she can B) he can't
C) she can’t D) he can



English
OLCME DEGERLENDIRME - 2

(1 - 4) sorularda bos birakilan yere gelecek
sifat hangi segenekte dogru olarak verilmistir?

"JI- ) N

A : Why can’t he wear it?
B : Because, itistoo .............

A) big B) new C) small D) large

2.

A 1 Why can't he lift it?

B : Because, itistoo ............. .

A) old B) heavy C) fat D) light
3.

A : Why can’t he watch television?

B : Because,itistoo ............. .

A) late B) early C) hot D) cold

Can/Can’t

He - Ha ki Sachidir © |

6. Sinif

A : Why can't your sister speak?
B : Because, sheistoo ............ .

A)sweet B)old C)beautiful D) young

(5 - 8) sorularda seceneklerde verilen ifade-

lerden hangisi dogrudur?

i)
4 »

A) He isn't go to the school today.

)

B) He can’t go to the school today.
C) He can go to the school today.
D) He can go to the school today.

A) They are go to work at nine o'clock.

B) They can go to work at nine o'clock.
C) They aren’t go to work at nine o’clock.
D) They can’t go to work at nine o’clock.

227



¥s
A) It can climb the tree.
B) It is climbing the tree.
C) It climbs can the tree.
D) It can't climb the tree.
8.

A) He lift can the box.
B) He is lift the box.
C) He can lift the box.
D) He can't lift the box.

(9 - 12) sorularn agagidaki okuma pargasina
gore cevaplayiniz.

“Hi, 'm Seda. | am nine years old. I'm a student.
I’'m at home now and it is raining outside. I've got a
brother. His name is Mert. He is two years old. | have
got a cousin, her name is Hande. She is in Germany.
My uncle’s name is Yilmaz. He is a singer and he
has got two albums. Yilmaz's house is in Spain.”

9. Can Hande speak German?

A) Yes, she can't. B) No, he can.

C) Yes, she can. D) No, she can't.

10. Can Mert ride a bike?

A) Yes, she can. B) No, he can't.

C) Yes, he can. D) Yes, he can't.

{ Her Hak i Sak o

English
11. Can Yilmaz sing a Spanish song?

A) Yes, she can. B) No, he can't.

C) Yes, he can. D) Yes, he can't.
12. Can Seda go on a picnic today?

A) No, she can.
C) No, she isn't.

B) Yes, she can.
D) No, she can't.

13. Can Yilmaz speak Spanish?

A) Yes, he can't.

C) Yes, he can.

B) No, he can't.
D) No, he can.

(14 - 16) sorulan agagidaki karsilikh konusg-
maya gore cevaplayiniz.

Ezgi: Can your brother read a book?
Sinem : No, he can't.
Ezgi: Why not?
Sinem : Because, he is six years old. He isn'ta

student.

Ezgi: When can he read a book?

Sinem : He can read a book next year.

14. Sinem’'s brother ............................

A) can read a book.
B) can write a book.
C) can't read a book.
D) can't a book read.

15. Sinem’s brother can't read a book because
A) he is nine years old.
B) he is a student.
C) he can read a book.
D) he is six years old.

16. Can Sinem’s brother read a book?

A) Yes, he can't.
C) Yes, he can.

B) No, he can.
D) No, he can't.

Can/Can't



English

THERE IS / THERE ARE
SOME / ANY

There is

“There is"” vardir anlamina gelir. Bir seyin var-
hgindan bahsederken kullanilir. Tekil nesnelerin var-
hgint ifade ederken kullanthr.

There is + miktar + sifat + nesne + yer zarfi

§ INCELE

“Masamun istiinde yesil bir lamba vardir.”

=

Masamin dstiinde —- on my table = yer zarfi

yesil = green = sifat
bir = a = miktar
lamba = lamb = nesne
vardir = thereis = thereis
“There is a green lamb on my table.”
@ ORNEK 3

Asagidaki resmi dogru olarak ifade eden ciimle
hangi segenekte verilmistir?

A) There a cat is small under the table.
B) There is a cat under the table small.
C) There is a small cat under the table.
D) There is a dog under the table.

v’ ¢ozim

Ogeler dogru olarak C segeneginde siralanmistir.
Dogru yanit “C* segenegidir.

Can/Can't

| Her Haik* Sakl dir © |

6. Sinif

“There are” vardir anlamina gelir. Bir seylerin
varli§indan bahsederken kullanilir. Cogul nesnelerin
varligini ifade ederken kullanilr.

There are + miktar + sifat + nesne + yer zarfi

Y INCELE
“Bahgede lig siyah kopek var.”

Bahgede = in the garden => yer zarfi

¢ = three => miktar
siyah => black => sifat

kopek = dogs => gogul nesne
var = thereare = there are

“There are three black dogs in the garden.”

“There are two red pencils on the desk.”

Verilen ciimle hangi segenekteki resmi ifade
etmektedir?

A)‘ B}
C)‘ :

Verilen climlede “siranin Ustlinde iki tane kirmizi
kalem var” denmektedir. Yalnizca C seg¢enegindeki
resimde siranin (stinde iki kirmizi kalem vardir.

Dogru yanit “C*" segenegidir.

229



6. Sinif

“There isn't” veya “There aren't” “yoktur” anlami-
na gelir. Bir seyin ya da bir seylerin olmadigini
sOylerken yoklugundan bahsederken kullanilirlar.
Tekil isimlerle birlikte “There isn't”, gogul isimlerle bir-
likte “There aren’t” kullanilir.

“There aren’t two people in the car. There is a
person in the car.”

Hangi secgenekteki resmin altinda verilen ifade
vanhstir?

A) B)

= -\A-@‘J iy L >
There isn't a television

There aren't five children iN the room.
in the garden.

- _}
There isn’t a hat on
her head.

There éren't two chairs
in the room.

A segeneginde “Bahgede bes tane gocuk yok” den-
mektedir, dogrudur. Clnkil resimde dort tane gocuk
vardir. B segeneginde “Odada bir televizyon yok”
denmektedir. Resme baktigimizda odada televizyon
yoktur. ifade dogrudur. D segeneginde “Odada iki
sandalye yoktur.” denmektedir, dogrudur. GUinku
odada bir sandalye vardir. C segenegdinde “Onun
kafasinda bir sapka yok.” denmektedir, yanhstir.
Ginki resimde kadinin kafasinda sapka vardir.

Dogru yanit “C" seganegidir.

He: Haiki Sa thdi

English

“Is there......? / Are there....?” “Var midir?” anla-
mina gelir. Bir yerde bir seyin ya da bir seylerin olup
olmadidini sorarken kullanilirlar. Bu sorulara kisaca,
“Yes, there is”, “No, there isn't” ya da “Yes there are”,
“No, there aren't” seklinde cevaplar verilir.

Mo thara isn't

- . Ts there an .
'!s there a cand'™ jce-cream o ,‘m_
in your hand? in your hani|? ?., 3 Yas, thers s
b T & | -
s
& e P I'% E

o

-

//‘F,:_. there aren't. -H\\
There ang ninvebien

“Tarts thaes hwanty, ?
; ;;'L'I.rden-_:imgm \ sludents in the class |
| SARRETAD AT R ! today. Michatle is

. class? /

absand -

-,
Is

Asagidaki karsgihkli konugmada bos birakilan
yere gelebilecek ifade hangi segenekte dogru
olarak verilmigtir?

A B COmpUtEr .
"\w_yuur f_'.la's.srtmr_:_!?; “Yas. thara is.

—— —

A) Are there
C) There are

B) There is
D) Is there

Clmlenin sonunda soru isareti vardir. Yani climle
soru cumlesidir. A ve C segeneklerindeki ifadeler
olumlu cumlelerde kullanildiklari igin dodru olamaz-
lar. Cimlede “a computer” yani “bir bilgisayar” den-
mektedir. Yani tekil bir nesne sorulmaktadir. A
segenegindeki “Are there” ¢ogul nesneleri sormak
i¢in kullanildigindan dogru olamaz.

____Dodru vanit “D“ secenedidir.

Can/Can’t



English

6. Sinif

Some / Any

sayllamayan ve sayllabilir gogul nesne-

lerle birlikte genellikle olumlu cliimlelerde kullanilir,

miktar bildirir. sayllabilen nesnelerle kullanil-

diginda * sayllamaz isimlerle kullanildiginda
anlamina gelir.

There is some water in the glass.

There are some people in the room.

'
'
1
<) :
1
1
]

Sayilamaz nesnelerle birlikte olumlu ciimlelerde “There
is", olumsuz clmlelerde “There isn't", soru cﬁmlelerindeg
“Is there” kullanilrr, -

1
]
]
1
1

(]
1
1
]
|

I
1
1

Any' soru ve olumsuz cumlelerde kullanilr.

Miktar belirtir ve "1/ anlamina gelir.
:_’.::_; l.-' I-_-. there amy sugar,
,r-'}'i - s in my tea®?

. X

r

| Her Haski Sa dhid

¢ Are there any eggs,
in the fridga?

- ®

W),

3 ik

@ ORNEK 7

Seceneklerde verilen ifadelerden hangisi yan-
hgtir?

A) There is some milk in the glass.

B) Are there any oranges in the basket?
C) There is any girl in my class.

D) There isn’t any rice at home.

v ¢ozim
C segenegindeki ciimle olumludur. Olumlu ciimle-
lerde “any” yerine “some” kullanilir. Cimle yanligtir.

Dodru vanit “C* secenedidir,

@ ORNEK 8

Segeneklerde verilen ifadelerden hangisi dog-
rudur?

A) There are any flowers in the vase.

B) There is any salt in the soup.

C) There are some books in my bag.

D) Is there some pencils in your pencilcase.

v’ ¢ozim

A ve B segeneklerinde “any” olumlu cimlelerde kul-
lanildigi igin cimleler yanhstir. D segeneginde cumle
soru cimlesi oldudu igin “some” yerine “any” kullanil-
malidir.

Dodiru vanit “C*“ secenedidir.
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6. Simif English

7 atkinlik ptkinlii

&l % .'t .tm e

Asagidaki ciimlelerde “There is” ya da “There are” kullaniniz.

1. M a computer in her room. 14} . thirty teachers in our school.
2. s fourteen students in our class. s 30.000 words in my dictionary
R —— Bl I S 16. . seven days in a week.
e some coke in the bottle.

I e some water in the glass.
M e a cat in the kitchen.

18. ...... SNENTES a music teacher in our class.
6l e s beautiful flowers in her hand.

19, 81 cities in Tlrkiye.
7 T L an umbrella in your car.

20, ... dogs in the street.
B s some books in my bag.

2Ry T some salt in my salad.
O Sl e some milk in it.

o = e R four dishes on the table.
10. ek fifty-two friends in my msn list.

235 icndaviia some money in my wallet.
11N o e some apples in the fridge.

24, GEnaEREay a restaurant in this street.
12 . it a blue hat on his head.

4 two boys in the garden.
A8 | et some people in his office.

g i
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6. Simif

English

‘s (etkinlik ¥leinii

Asadidaki resimlere bakarak verilen cevaplara uygun sorular yapiniz. (Birincisi érnek olmasi igin

yapilmigtir.)

jam - jar

No, there isn’t any jam in the jar.
Yes, there is some tea in the glass.

water - bucket

coke - bottle Yes, there is some water in the bucket.

Yes, there is some coke in the bottle.

Yes, there is some butter in the plate.
No, there isn’'t any milk in the feeding bottle.

Can/Can't 233



6. Sinif English

< s {etkinlik otlkinlik

Asagidaki resimlere bakarak verilen cevaplara uygun sorular yapiniz.

7. 8.
|
<
Yes, there is a restaurant in the street. EBiE dpiighd
.............................................................. T
Yes, there is an umbrella in her hand.
9.

people - bus stop

No, there aren’t any dogs in the garden.

s
No, there aren’t four people at the bus stop.

calculator - table rose - vase

Yes, there is a calculator on the table. Yes, there are some roses in the vase.
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6. Sinif

s ‘etkinlik ptkinlik

Asagidaki resme bakarak odada neler oldugunu yazimz. (Birinci cimle 6rnek olmasi igin verilmistir.)

p—

1. There are some books in the bookcase.

Can/Can't il =




6. Sinif English

S e

I!Asagldakl bosgluklarda “a”, “an”, “some” veya “any” kullaniniz.
1. Thereisn't....80Y. . . . sugar in my tea.
2. Arethere .................. apples in the fridge?
3. Thereis ............ man at the door.
4. Therearent.............. customer in the shop.
5. Thereis ................. cheese in the plate.
6. Thereisnt ... rice in the vase.
7. Isthere ....................... water in the glass?
8. Thereare ............... cars in the park.
9. Arethere .............. children in the garden?
10. Thereis ................. eraser in my pencilcase.
11. Thereare .................. stars in the sky.
"1

236 CanCan't



English

¢cO0ZOMLO OLCME
DEGERLENDIRME - 2

(1 - 4) sorularda resimlere bakarak segenek-
lerdeki ifadelerden hangisinin dogru oldugunu
bulunuz.

A) There some red flowers in the vase.

B) There aren’t any flowers in the vase.

C) There is a flower in the vase.

D) There are some yellow flowers in the vase.

A) There is six students in the class.

B) There aren't six students in the class.
C) There are six students in the class.
D) There isn’t six students in the class.

A) There isn't any water in the glass.
B) There are water in the glass.

C) There is some water in the glass.
D) There isn’t some water in the glass.

Can/Can’t

©

He: Ha «ki Sa «lidir

6. Sinif

A) There is a star in the sky.

B) There are some star in the sky.
C) There are some stars in the sky.
D) There are a star in the sky.

5. Segeneklerden hangisi digerlerinden fark-

hdir?
A) B) | rrm— |
f—
There is some There is some
milk in the bottle. water in the glass.
C) e D) . 7, 1 R
@& T
There is some There are some
rise in the bowl. eggs in the basket.

6. Farkl olan segenegi bulunuz.

B) —

There is a red car There is a big box
in the park. on the table.

- & There is a book
There is a young boy on the table.

in the garden.

C)
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6. Sinif English

7. Hangi segenek digerlerinden farkhdir? (9 - 12) sorularda kargihkh konusmalarda
A) . B) bos birakilan yerlere gelebilecek en uygun cevap
...... : ot t . L
amy hosa myﬁ::s: hangi segenekte verilmistir?
9.
c acomputer™ D) /7...... some pictures o o
~Jn my room.

A) there isn't. B) itis.

8. Cevabi farkh olan segenek hangisidir? C) there is. D) any.

|

He Ha

A)a B) any C) some D) not

1. ——

A) Some B) Are C) Any D) lIs
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English 6. Sinif

12. g !% 15. What is there on the bed?
.\“iw A) Books B) Abag
s g C) Bags D) Some bags
o yp— e :‘
A) Yes, there is. B) No, there are.
C) Yes, there isn't. D) Yes, there are.

16. Are there any pictures on the wall?

A) No, there aren’t. B) Yes, there is.
C) Yes, there are. D) No, there isn't.
(13 - 16) sorulan asagidaki resme gore ce-
vaplaymniz.
(-]
o
x
=
1_!_.
13. Is there a table in the room?
A) Yes, there is. B) No, there isn’t. 17. Resme goére segeneklerde verilen ifadeler-
C) Yes, there isn't. D) No, there is. den hangisi yanhstir?
14. Is there a television in the room? A) There are some trees in the garden.
No. th B) There is a table in the garden.
oy BN R S C) There is a child in the garden.
C) Yes, there are. D) No, there isn’t.

D) There is a cat in the garden.

Can/Can’t e . _ l'=ap




6. Sinif

COZOMLER

.- Vazoda birden fazla gigek vardir. D segeneginde
“Vazoda birkag sar gigek vardir.” denmektedir,
dogrudur.

Dogru yanit “D” segenegidir.

A ve D secgeneklerinde ¢godul nesnelerle birlikte
“there is” kullaniimigtir, yanlistir. B segeneginde
“sinifta alti 6drenci yoktur.” denmektedir, yan-
listir. C segenegdinde ise “Sinifta alti 6Jrenci
vardir.” denmektedir, dogrudur.

Dogru yanit “C” segenegidir.

B segenedinde sayillamaz nesne ile birlikte
“there are” kullanilmistir, yanlistir. C segenegin-
de “Bardakta biraz su vardir.” denmektedir, ama
resimde bardak bostur. D segeneginde olumsuz
cumlede “some” kullanilmigtir. Dodru yanit A
secgeneginde verilmistir, cimlede “Bardakta hig
su yoktur.” denmektedir.

Dogru yanit “A” segenegidir.

A secgeneginde “Gokyuiziinde bir yildiz var.” den-
mektedir, yanlistir. Clnkl birden fazla yildiz
gorulmektedir. B segeneginde cimle godul iken
nesne tekil olarak (star) kullanilimigtir, yanlistir.
C segenegdinde “Gokyuzinde birkag yildiz var.”
denmektedir, dogrudur.

Dogru yanit “C” segenegidir.

A, B ve C segeneklerinde sayllamaz nesneler
kullanilmigtir. D secgeneginde ise sayilabilen
nesne kullaniimigtir.

Dogru yanit “D” segenegidir.

A seceneginde “red”, B segeneginde “big”, C
seceneginde “young” sifatlari kullaniimigtir.
Fakat D segceneginde bir sifat kullanilmamistir.
Farkli olan D'dir.

Dogru yanit “D” segenegidir.

A, B ve D segeneklerinde ¢ogul nesneler kul-
laniimistir. C segeneginde ise tekil nesne kul-
lanilmigtir. Farkli olan segenek C’dir.

Dogru yanit “C” segenegidir.

A segeneginde “Bahgede hig agag var mi?” den-
mektedir. Resimde gérildigu lzere cevap
olumlu yani “Yes, there are” olmaldir. B
segeneginde “Istanbul'da bogaz igerisinde iki
kopri var midir?” denmektedir. Cevap olumlu
yani “Yes, there are” olmalidir. D segeneginde
“Tlrkiye'de yedi bolge var midir? denmektedir.
Cevap olumlu yani, “yes, there are” olmalidir. C
secenedinde ise “Turkiye'de seksen iki il var
midir? denmektedir. Cevap olumsuz yani, “No,
there aren’t” olmalidir. A, B ve D segeneklerinin
cevaplari olumsuz iken C segenegindeki cevap
olumludur.

Dogru yanit “C” segenegidir.

Sakldi’ © |

e Ha

10.

1.

12

13.

14.

15.

16.

17.

English

Soruda “Senin kalem kutunda bir silgi var mi?”
denmektedir. Cocuk cevabina “Yes" ile
basladigina gére cevap olumludur. Devaminda
“there is” olmalidir.

Dogru yanit “C” segenegidir.

Adam “Senin kahvende hig st var mi?” demek-
tedir. Cevap veren dider adam ise olumsuz bir
cevap vermigtir. Olumsuz climlelerde “any” kul-
lanilir.

Dogru yanit “B” segenegidir.

Soru cumlelerinde “there’den 6nce “is” ya da
“are” kullanilir. Bu sebepten dolayr A ve C
segenekleri yanlistir. Sorulan nesne (girls) cogul
oldudu icin “is” de kullanilamaz.

Dogru yanit “B” segenegidir.

Ogretmen sorusunda “Van’'da bir gél var midir?”
demektedir. Van'da bir gdl olduguna gore
o6grencinin cevabi olumlu olmalidir.

Dogru yanit “A” segenegidir.

Odada bir masa vardir.

Dogru yanit “A” segenegidir.

Soruda “Odada bir televizyon var mi?” denmek-
tedir. Resimde bir televizyon yoktur. Bu sebeple
cevap olumsuz olmalidir ve A ve C segenekleri
dogru olamaz. B segenedi olumsuz baslayip
olumlu devam etmektedir, yanhstir.

Dogru yanit “D” segenegidir.

Soruda “Yatagin Ustiinde ne var?” denmektedir.
Resimde yatagin Ustlinde bir ganta vardir.

Dogru yanit “B” segenegidir.

Soruda “Duvarda hig resim var mi?” denmekte-
dir. Duvarin Ustliinde resimler gérmekteyiz.
Dolayisiyla “No” ile baglayan A ve D segenekleri
yanlistir. B segenedinde ise tekil olarak cevap
verilmistir. Duvarin (stiinde birden fazla resim
oldugu igin cevabimiz godul olmalidir.

Dogru yanit “C” segenegidir.

C segeneginde “Bahgede bir gocuk vardir.” den-
mektedir. Resimde bahgede iki gocuk vardir.

Dogru yanit “C” segenegidir.



English

OLCME DEGERLENDIRME - 3

(1 - 6) sorularda resimlere bakarak dogru

cevabin hangi segenekte verildigini bulunuz.

What is there on the table?

A) There is a bag and books on the table.
B) There are books and bag on the table.
C) There are two bags and a book on the table.

D) There are two books and there is a bag on
the table.

Is there any bread on the table?

A) No, there is.
C) Yes, thereis.

B) Yes, there are.
D) No, there aren't.

What is there in the pitcher?

A) There is any orange juice in the pitcher.

B) There are some orange juice in the pitcher.
C) There is a orange juice in he pitcher.

D) There is some orange juice in the pitcher.

Can/Can’t
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6. Sinif

Are there four boxes on the bed?

A) Yes, there are four boxes on the bed.

B) No, there aren't any four boxes on the bed.
C) No, there aren’t four boxes on the bed.

D) No, there aren’t four box on the bed.

Are there two dogs in the kennel?

A) Yes, there are two small dogs in the kennel.
B) Yes, there is two small dogs in the kennel.
C) Yes, there are small dog in the kennel.

D) No, there aren’t any dogs in the kennel.

Are there any women in the room?

A) Yes, there are some women in the room.
B) Yes, there is a woman in the room.

C) Yes, there is some woman in the room.
D) Yes, there are woman in the room.
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6. Sinif English

(7 - 11) sorularda verilen ciimleler secenek-  10. “There are five boys and four girls in the class.”
lerdeki hangi resmi ifade etmektedir?

7. “There is some tea in the glass.”

A ™™ B)
L
c (@ D)

11. “There are some blue pencils in the pencilcase.”
A) g B)Q

(12 - 16) sorularda bog birakilan yerlere uy-

8. “There aren’t any bananas in the basket.”

m‘i’ gun diigen sozciik ya da ifade segeneklerden
< hangisinde verilmigtir?
T
T 12.There are ..o....... in the garden.
A) a flower B) flowers
C) a flowers D) flower
13. There is .....cccocvurueen in the car.
A) acats B) cats
C) acat D) two cats
14. There is ..ccccveceneen. in the bottle.
A) a coke B) coke
9. “There is a red hat on her head.” i C) cokes D) a cokes
A G h 15. There are .................. in the fridge.
A NS A) egg B) aegg
i C) aeggs D) eggs
<) D) 16. There are ......c.ccceucune in the garden.
- :
i A) a girls B) two girl
- C) girl D) two girls
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English . 6. Sinif

OLCME DEGERLENDIRME - 4 4 ]
/"Is there any big
N, _ﬁrp_ountain in Agrl'?r

(1 - 4) sorularda kargilikh konugmalarda bos
birakilan yerlere uygun diigen sozciik ya da ifade
hangi segenekte verilmigtir?

“ls there ....... mDr;;.-:;
|E1 your pockat? g =
_;).z' _CN-:- there isn't ..... --“w,l
_MOney in my pockel.
— gt
A) Yes, there are. B) No, there isn't.
C) No, there aren't. D) Yes, there is.
-
A) some / any B) any/some
C) any/any D) some / some (5 - 10) sorulari agagidaki resme bakarak ce-
vaplayiniz.
2, ot i B oy y
Are thers two ttlswsia?ﬁi) =
pE P . I, .
e -' i
. Y | \
- \\
5. Is there a hanger in the office?
A) there is. B) there aren't. A) Yes, itis. B) Yes, there is.
C) there are. D) there isn't. C) No, itisn't. D) No, there isn’t.
6. What is there on the hanger?
3.

- - A) There is a computer on the hanger.
e 1 ik

\ o the bttt B) There are jackets on the hanger.
V Voh. There ...\ C) There is a jackets on the hanger.

':k__mrr'.-e milk in i

D) There is a jacket on the hanger.

Y—
7. What is there in the bookcase?
A) There is a hanger in the bookcase.
B) There is a file in the bookcase.
A) Is/are B) Is/is C) There are some files in the bookcase.
C) Are/are D) Are/is D) There are any files in the bookcase.
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6. Sinif English

8. What is there on the table? (11 - 16) sorularda bos birakilan yere ya da

yerlere uygun gelen segenegi igaretleyiniz.
A) There are a computer and a phone on the

table.
1 gt there ............ t le?
B) There are some computers and phones on e R ot AT
the table. A) Is/ some B) Is/any
C) Thereiis some computers and phones on the C) Are/any D) Are/ some
table.
D) There is a computer and a phone on the
table.
12. There .............. pictures on the wall.
A) are some B) is any
C) isn't some D) are any
13. There aren'’t .............. oranges on the plate.
9. Segeneklerde verilen ifadelerden hangisi 4 A) any B) some C)an D)a
yanhstir? ;—2
1]
wn
A) There isn't a phone in the office. g
B) There isn't a television in the office. T
C) There is a table in the office. T
D) There is a hanger in the office.
14. ........... there iamw films on television
tonight?
A) Is/ any B) Are/any
C) Is/ some D) Are/some
15. Thereis ............. cheese on my plate.
A) a B) any C) some D) an
10. Segeneklerde verilen ifadelerden hangisi
dogrudur?
A) There are hangers in the office.
B) There is some computer in the office. )
C) There are any files in the bookcas. 16. There aren'’t ................ flowers in the vase.
D) There is a bookcase in the office. A) a B) some C) any D) an
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English

HOW MUCH .....? / HOW
MANY....? (Kag ?)

How much.....?

“How much” soru kalibi ile nesnelerin miktari
sorulur. Soru cimlesi yapilirken “How much’tan
hemen sonra neyin miktari sorulacaksa o yazilir.

“How much water is there in the fridge?" =
Dolapta ne kadar su var?

“How much money have you got?” = Ne kadar
paraya sahipsin?

“How much” soru kalibi ayni zamanda bir seyin
fiyatini sorarken de kullanilir.

“How much is this book?" = Bu kitap ne kadar?

“How many” soru kalibi ile sayilabilen nesnelerin
sayilari sorulur.

“How many rooms are there in your house?” =
Evinde kag oda var?

“How many sisters have you got?” = Kag tane
kiz kardesin var?

@ ORNEK 9
Karsilikhi konusmada bog birakilan yere uygun

diisen ifade segeneklerden hangisinde dogru
olarak verilmistir?

7 ceennes GIFIS BNe thare™,

e
L} % e o= '

i your class? + Thare are twalva ™,

. =3y | !

!-. v @irls in our class,

A) Have
C) How much

B) How many
D) Has

v’ gozim
Soruda “Sizin sinifta kag tane kiz var?” denmektedir.

Sorulan “kiz" sayisi yani, “girl” sayilabilen bir isim
oldugu igin boslukta “How many” kullanilir.

Dogru yanit “B” segenegidir.

Can/Can’t
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6. Sinif

& ORNEK 10

Alper: ... %S, ?
Gizem : There isn’t any milk in the bottle.

A) How much milks are there in the bottle
B) How many milk are there in the bottle
C) How much milk is there in the bottle
D) How many milk is there in the bottle

v’ gbziim

Miktar sorulan nesne “sit” sayllamaz bir nesnedir.
Bundan dolayi soru “How many” ile baglayamaya-
cagindan C ve D segenekleri dogru olamaz. A sege-
neginde sayllamaz bir isim olmasina ragmen “milks”
cogul olarak kullaniimistir. Sayillamayan isimler
codul olamazlar.

_ Dogru yamit “C" secenegidir.

o ORNEK 11

Bos birakilan yere uygun diisen sozciik hangi
segenekte dogru olarak verilmistir?

A How many .......overeenees N

\,_are there in your housel/
- S
A) room B) a room
C) rooms D) two rooms
v’ ozim

Soru “How many” ile bagladigina gore ve sorulan
nesne “room” sayilabilir olduguna goére soruda gogul
hali kullaniimahdir.

Dogru yanit “C” segenegidir.
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English

<11/ etkinlik -ptkinlik

Resimlere bakarak “How many?” ve “How much?” kullanarak sorular yapiniz. (Birincisi 6rnek olmasi igin

yapiimigtir.)
1. 6.
book - table
el
2.
7.
coke - bottle
Eh
honey - jam
3 7
|
egg - fridge 8.
................................................................... s
4.
girl - room
P
9.

Rl ' city - Tiirkiye
I i




English

6. Sinif

pikinlik

Asagidaki bogluklarda “How many?” veya “How much?” kullaniniz.

1. ... S sugar is there in it?

K ipebe s et pencils are there in her pencilcase?

5. ..ceeevesseeeee.. Children have they got?

B e e e jam is there in the jar?

9. e, trees are there in your garden?

11, o i stars can you see now?

A3 o e . e butter is there in the plate?

156. ......ccceevneenn. players are there in the game?

e e, .
2. ERETREEERE money have they got?
S N is that blue shirt?
6. A months are there in a year?
8. .o brothers has he got?
105 oo S o time have you got?
12, tea is there in your mother's glass?
14. ... passengers are there in the plane?
16. ., rice is there in it?

gl --?‘E-'-"“,iﬁiﬁa --*a*-:%fil-‘:f‘é“ég*f‘-'-” - wt ‘@l Pige-

[T247
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6. Sinif

€0zZOMLO OLCME
DEGERLENDIRME - 3

(1 - 4) sorularda resimlere bakarak segenek-
lerdeki hangi sorunun dogru oldugunu bulunuz.

pencil - table

A) How many pencils are there on the table?
B) How many pencil is there on the table?
C) How much pencil are there on the table?
D) How much pencils are there on the table?

watch - price
A) How old is that watch?
B) How many watch have you got?
C) How much is that watch?
D) How many is that watch?

T

water - tank

A) There isn’t any water in the tank.
B) There are water in the tank.

C) There is some water in the tank.
D) There isn’t some water in the tank.

[ 248}
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English

girl - garden

A) How many boys are there in the garden?
B) How much girls are there in the garden?
C) How many girls is there in the garden?

D) How many girls are there in the garden?

(5 - 8) sorulardaki kargilikli konugmalarda
bos birakilan yerlere uygun diigen ifade hangi
segenekte dogru olarak verilmistir?

5.
A) giraffe B) giraffes
C) giraffes D) giraffe
6.
~How much ...

have you got?
—=

——

(Thaven't got any.)

£

A) some money B) money
C) moneys D) a money
‘f Can/Can’t




English

7. it 25 gy

/“How many .......are there™,
“.in your house? A

)/ _There is only one.

A) balcony B) a balcony
C) balconies D) a balconies

— :
< How many ...
\have you gof? ./

—

Two

—

N

A) red hat B) hat
C) ared hat D) red hats

(9 - 10) sorulan asagidaki resme gore cevap-
layimiz.

9. How many girls are there in the garden?

A) There are two girls-in the garden.
B) There aren’t any girls in the garden.
C) There are three girls in the garden.
D) There are five girls in the garden.

Can'Can't

| He® Haki Sa lidir

10.

6. Sinif

How many children are there in the garden?

A) There are three children in the garden.
B) There are four plates on the table.

C) There are five children in the garden.
D) There aren'’t any children in the garden.

(11 - 12) sorularda segeneklerde verilen ifa-

delerden hangisinin dogru oldugunu bulunuz.

1.

12.

e

A) How much coffee are there in the cup?
B) How many coffees are there in the cup?
C) How much coffees is there in the cup?
D) How much coffee is there in the cup?

A) How much roses are there in the vase?
B) How many roses are there in the vase?
C) How many rose is there in the vase?
D) How much rose is there in the vase?
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" 6. Sinif

(13 - 14) sorularda segeneklerde verilen ifa-

delerden hangisi yanhstir?

13-,-5.,; Yy ry B)

TR T T T
How many penguins
are there in the picture?

C) Rl
g

How many glass
are there on the table?

How many birds
are there on the tree?

D) Z
L 1 i
¥ O

How many chairs
are there in the room?

How much yoghurt
is there in the bowl?

How much water
is there in the lake?

C) D)

How much milk
are there in the bottle?

How much orange juice
is there in the glass?

(15 - 16) sorularda segeneklerde verilen ifa-

delerden hangisi digerlerinden farkhdir?

15. A) How much flour is there in the pocket?
B) How many birds are there in the cage?
C) How many stamps have you got?
D) How many sister has he got?

|
250
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English

16. A) How many workers are there in the factory?

B) How much water is there in it?
C) How many computers are there in the office?
D) How much is that computer?

17. Asagida verilen karsihikh konugsmada bos

birakilan yere uygun diigsen ifade hangi
segenekte dogru olarak verilmisgtir?

f s your watch@ [ Itis 50 YTL. )

A) How much

B) How
D) How old

C) How many

[ Can/Can’t W




English

COZOMLER

Bizden masanin Ustlindeki kalem sayisini sor-
mamiz isteniyor. “Kalem” sayilabilen bir isim
oldugu igin sorumuz “How many” ile bagla-
malidir. Bundan dolayi C ve D segenekleri dogru
olamaz. Sayilabilen isimler sorulurken g¢ogul
olarak sorulurlar. Bundan dolayi B segenegi de
dogru olamaz.

Dogru yanit “A” segenegidir.

Vitrindeki saatin fiyatini sormamiz istenmekte-
dir. Bir seyin fiyati “How much” ile soruldugun-
dan dogru yanit C segeneginde verilmigtir.

Dogru yanit “C” segenegidir.

Tankin iginde su oldudu igin cevaplarda “There
isfism’t ... " ifadelerinden birisi kullanil-
malidir. Resimde tankin iginde biraz su oldugu-
na gore, cevap; “There is ....." seklinde olmalidir.

Dogru yanit “C” segenegidir.

Bahcede kizlarin sayisinin sorulmasi istenmek-
tedir. A segeneginde “girl” yerine “boy” kul-
laniimigtir, yanhigtir. B segeneginde “How much”
kullaniimistir, yanhstir. Glnki “girl” sayilabilen
bir isimdir. C segeneginde “is there” kul-
laniimigtir, yanhstir. Ginku sayilabilen g¢ogul
isimlerle birlikte “are there” kullaniimahdir.

Dogru yanit “D” segenegidir.

Soru “How many” ile sorulduguna gére sayila-
bilen bir ismin sayisinin soruldugu agiktir.
Sayilabilen isimler bu tir sorularda ¢ogul olarak
bulunduklarindan dolayi dodru yanit B segene-
ginde verilmigtir.

Dogru yanit “B” segenegidir.

Soruda “How much” kullanildigina gére sayila-
maz bir ismin miktarinin soruldugunu anhyoruz.
Sayilamaz isimler bu tir sorularda yalin halde
bulunurlar. Bu sebepten C ve D segenekleri yan-
ligtir. “some” soru cimlelerinde kullaniimadidin-
dan A segenegi de yanlistir.

Dogru yanit “B” segenegidir.

“How many” soru kalibi ile sayilabilen isimlerin
sayisi sorulur ve bu isimler bu sorularda g¢ogul
durumunda bulunurlar.

Dogru yanit “C” segenegidir.

“How many” den sonra c¢ogul isim kullanil-
maldir. Isimden &nce sifat kullanilmasi bir
degisiklige sebep olmaz.

Dogru yanit “D” segenegidir.

Can/Can't
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10.

1.

12.

13.

14,

15.

16.

17.

6. Sinif

Soruda, “Bahgede kag tane kiz var?” denmekte-
dir. B segeneginde “hi¢”, C segeneginde “U¢”, D
segeneginde “bes” kiz var denmektedir.
Resimde iki kiz gériiyoruz.

Dogru yanit “A” segenegidir.

Soruda “Bahgede kag ¢ocuk var?” denmektedir.
Resimde iki kiz, U¢ erkek toplam bes ¢ocuk
gorilmektedir.

Dogru yanit “C” segenegidir.

“Kahve” sayllamaz bir isim oldugu igin soru
cumlesi “How much” ile baglamalidir. B
segenegdinde soru “How many” ile basladidi igin
yanligtir. Sayillamaz isimlerin ¢ogul halleri yok-
tur. C segeneginde “coffees” ifadesi yanligtir. A
seceneginde ise sayllamaz bir isimden sonra
“are there” kullaniimigtir, yanhstir.

Dogru yanit “D” segenegidir.

“Rose” gill demektir ve sayilabilen isimdir.
Sayilabilen isimlerin sayisi sorulurken “How
many” kullanildidi i¢in A ve D segenekleri dogru
olamaz. Sayilabilen isimler bu tir sorularda
¢odul olarak kullanildiklar icin C segenegdi de
dogru olamaz.

Dogru yanit “B” secenegidir.

“Glass” bardak demektir ve sayilabilen bir
isimdir. Dolayisiyla soruda ¢ogdul olarak “glass-

es” bulunmasina ragmen tekil olarak yer
almistir.

Dogru yanit “C” segenegidir.

“Milk” sayillamaz bir isimdir. D segeneginde
“milk” isminden sonra “are there” kullaniimigtir,
yanligtir.

Dogru yanit “D” segenegidir.

B, C, D seceneklerinde sayilabilen nesneler
sorulmakta iken, A secenedinde sayillamaz bir
nesne sorulmaktadir.

Dogru yanit “A” segenegidir.

A, B, C secgeneklerinde nesnelerin sayilari, mik-
tarlari sorulurken D segeneginde bilgisayarin fi-
yati sorulmaktadir. Farkli olan D segenegindir.

Dogru yamit “D” segenegidir.

Bir seyin fiyati “How much” soru kelimesi ile
sorulur.

Dogru yanit “A” segenegidir.



6. Simf

OLCME DEGERLENDIRME - 5

(1 - 8) sorularda verilen karsiikh konus-
malarda bos birakilan yerlere uygun diigen
sozcik ya da ifade hangi segenekte dogru olarak
verilmistir?

1. ——,
_ /“There are three
........................... % | bedrooms in
My house.
oy £

\ —

V

S

A) How many bedroom are there in your
house?

B) How much bedroom is there in your house?

C) How many bedrooms are there in your
house?

D) Is there any bedrooms in your house?

A) How many cousins are there you?
B) How many cousins have you got?
C) How much cousin have you got?
D) How many cousin have you got?

Her Haiki Satlidi' © |

A) How many
C) How much

A) I've got twenty-five students in the class-
today.

B) There is twenty-five students in the class
today.

C) Students are at their class today.

D) There are twenty-five students in the class
today.

Ifﬁ;w mainy brothers, ————
2

n.{a@l.,re you got?

= Y —
o5

A) I've got two.
C) Yes, there is.

B) Yes, I've.
D) Yes, there are.

/..money

. \ 1 haven't got ™,
*.have you got?_~

'._any money. ./

o e

B) Is there
D) Are there

Can'Can"t



English ! 6. Sinif

6. S (9 - 10) sorularda verilen cevaplar segenek-
-------- lerdeki hangi sorunun cevabidir?
S
9. “I've got 500 YTL in my pocket”
A) apples B) cheese
C) bottles D) dishes
7. 10. “There are two cars in the street.’
T )’ How manm
=
[}
w
1]
T
(]
T
A) honey B) sugar
C) apples D) egg
C)
8.
D) ~~ Are there two
\ in the street?
A) What B) How much
C) How some D) How many

* CanfCant - . - 253



6. Sinif

English

(11 - 13) sorularda segeneklerdeki ifadeler-

den hangisinin dodru oldugunu bulunuz.

11. A) How many person are there in your house?

12.

13.

ehn

L

B) How much people are there in your house?
C) How many people is there in your house?
D) How many people are there in your house?

A) How much water is there in the bottle?
B) How much waters is there in the bottle?
C) How much water are there in the bottle?
D) How many water is there in the bottle?

A) How many is a kilo of potato?
B) How much are a kilo of potato?
C) How much is a kilo of potato?
D) How many are a kilo of potato?

Her Haiki Sakldi- © |

(14 - 16) sorularda verilen sorularin cevabi

segeneklerden hangisinde dogru olarak veril-
migtir?

14. How many sons have they got?

A) There are two sons.

B) They have got two son.
C) They have got any sons.
D) They have got two sons.

How much milk is there in your coffee?

A) There are some milk in my coffee.
B) There are many milk in my coffee.
C) Yes, there is.

D) There is some milk in my coffee.

{ Menrsbarch 03 2007

i 2 1
5 8§ F 89 3]
1# 43
19 0

4 18
Ho2 o

e B M 29 30 A

BE—

How many days are there in a week?

A
B
C
D

There is seven days in a week.
There are seven weeks in a day.
There aren’t any days in a week.

There are seven days in a week.

Can/Can't



English 6. Sinif

PREPOSITIONS OF PLACE

(rerorrc B ) § oppny ;
Ingilizce’de bir seyin ya da bir seylerin yerlerini LY ! )
ifade ederken edatlar (prepositions) kullanilir. Bu B \\‘{ e
edatlar “iginde, ustiinde, altinda, yaninda, 6niinde, - ¥
arkasinda v.b” anlamlarina gelmektedirler. _,wa-
e
- I |I
= L Po=se b % /:_1“':‘ '
o ot = & Sibel is in front of the tree.
! =" (Sibel agacin 6niindedir.)
In behind near

/__#,;"_ fei=tly ] o
co s tfco

under in front of
Where is he? He is in the car.
(O nerede?) (O arabanin iginde)
Where is he? He is behind the car.
(O nerede?) (O arabanin arkasinda)
Where is ’r’\e? He is nearthe car. Mert is between Sibel and Figen.
(O nerede?) (O arabanin yaninda) 2 (Mert; Sibel ve Figen’in arasindadir.)
Where is he? He is onthe car. .
(O nerede?) (O arabanin iistiinde) 3
Where is he? He is under the car. z
(O nerede?) (O arabanin altinda) £
Where is he? He is in front of the car. T /
(O nerede?) (O arabanin 6niinde) P

Figen is near Sibel.
(Figen, Sibel'in hemen yanindadir.)

Figen is behind the tree.
(Figen agacin arkasindadir.)

They are round the tree.
(Onlar agacin etrafindadir.)

[ Can/Can’t ! 255 |




6. Simif English

@ ORNEK 12 Directions
Directions “yonler” anlamina gelmektedir. Bir

yerin ya da bir seyin cografi konumunu ifade
ederken kullaniriz.

Asagida verilen ciimle hangi segenekteki resmi
ifade etmektedir?

“The bird is behind the cage.”
A)

North (Kuzey)

West East
(Batr) (Dogu)

South (Giiney)

= Sinop is the in the north of Turkey. => Sinop
v CﬁZijM Turkiye’'nin kuzeyindedir.
» Our house in the west of the city. = Benim

Verilen cimlede “kus kafesin arkasindadir.” denmek- : ;
evim gehrin batisindadir.

tedir. C seceneginde kusu kafesin arkasinda goriiyo-
ruz. s Kocaeli is in the east of Istanbul. = Kocaeli

Dogiru yamit “C” segenegidir. Istanbul’'un dogusundadir.

@ ORNEK 13

-
e S
Asagidaki karsihkli konusmada bos birakilan = @ _ORNEK 14 e e .
yere uygun diigen ifade hangi segenekte dogru §  Asagidaki ifadede bosluga uygun gelen
olarak verilmigtir? 2 segenegi igaretleyiniz?
T OAGNIS Turkey.”
()]
Pharmacy | Grocer if Bank® [} Butcher T A) in the west of B) in the east of
C) in the north of D) in the south of
Where is 2
the bank? .............. / GOZUM
; Verilen cimlede “Agn Turkiye'nin ........... dir.” den-
mektedir. Agr Tlrkiye’'nin dogusunda olduguna gore

bosluga “in the east of” gelmelidir.

Dogru yanit “B” secenegidir.
A) It is behind the butcher. gru y 2ceneg

B) It is between the grocer and the butcher.
C) ltis next to the book store.
D) ltis in front of the pharmacy.

v’ Gizim

A segeneginde “kasabin arkasindadir.” denmektedir,
yanhstir. C segeneginde “kitapgidan sonradir.” den-
mektedir, yanlistir. D segeneginde “eczanenin
onundedir.” denmektedir, yanhstir. B segceneginde “O
bakkal ile kasabin arasindadir.” denmektedir,
dogrudur.

Dodru vanit “B” segenegidir.

256 Can/Can't



English 6. Sinif

5] etkinlik ntkinlik

Asgafidaki resimler lle yan tarafta verilen ifadeleri eslastiriniz.

£

Ha is between the cars.




6. Sinif

<14{ etkinlik n

Asagidaki ifadelerde bosg birakilan yerleri resme gore doldurunuz.

English

-

i\

— - - -
_-'-' '.‘ r+-- v '
O o
Al I —
1. The schoolbagis .................... the bed

2. The wardrobe is ..........

3. The bookcase is

the bed and the bookcase.

the wardrobe.

4. The computeris ...................... the table.
5. The phoneis ...................... the flowers.
6. The picturesare ...................... the wall.
7. Thzhangeris ...................... the door.

8. Thecatis ..................... the bed.

9. Theradiois ...................... the television.

<15{etkinlik

Kendi evinizdeki egyalarin yerlerini belirtiniz.

1. The televisionis ... 6. The sofais ........ccocoeciiiviiciinins

2. The bookcase is ..............cccccoiiiii. 7. The MIrrOris ...cooovviiiii it
3. Thephoneis ...........ccoooooiiiiiiiiiiii 8. The washing machine is ........cc.ccociicniiinnncn
4. The refrigeratoris ..............cc.coociciin BRI S oxrcoitrroicrrer s
5. The computeris ..., 10. The kettle is ..................ccooevrmemicaciieceaee

258_JL
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English

Asking ways, Giving directions,
Describing locations
Ingilizce'de gidilmek istenilen bir yeri sormak ya
da sorulan bir yeri tarif etmek igin kullanilan bazi
ifadeler vardir.

¢ “How can | get the bank?” = Bankaya nasil
gidebilirim?

¢ “Where is the nearest post office?” = En
yakin postane nerededir?

e “Can you tell me the way to train station,
please?” = Tren istasyonuna giden yolu
soyleyebilir misiniz litfen?

e “ltis on the Bagdat Street.” = O Bagdat cad-
desindedir.

¢ “Go up the street/ road.” = Caddenin / yolun
yukarisina git.

¢ “Go down the street / road.” = Caddenin /
yolun agagisina git.

e “Go along the street / road.” = Cadde / Yol
boyunca git.

e “Turn right / Turn left.” = Saga dén / sola
dén.

« “Take the first turning on the right / left.” = lIk
saga / sola don.

¢ “Take the second turning on the right / left.” =
Ikinci saga / sola don.

@ ORNEK 15
@ SARAY ROAD
Trml 3 Station

Shoe Store Book = Restaurant

= Siore t Sirin Street

E irin

Green Park Sl B

| . @ rIM’&.RKE!‘ BANK |
Cinar Street 8 PAl S_ WButcher; Bakory|
e Chemist Menekse Street
Station| . = | Swimming

Yukandaki resimde @ igareti olan noktadasiniz
ve asagidaki tarife uygun hareket ettiginizde
segeneklerden hangi noktaya ulagirsiniz?

“Go along the Saray Road, take the second turning
on the right. And go down the Karanfil Street, turn
the first left. It is on the left.”
A) Butcher
C) Bekory

B) Restaurant
D) Cinema

Can/Can"t

©

He ' Hakki Sa clichir

6. S nif

Verilen tarifte; “Saray Yolu boyunca gidiniz, ikinci
saga donin ve Karanfil Caddesinden asag gidin, ilk
sola donin. O soldadir.” denmektedir. Tarifi takip
ettigimizde varacagimiz nokta “Restaurant’tir.

Dogru yanit “B” segenegidir.

Asadgidaki kargihkh konugsmada bos birakilan
yere uygun dtiisen ifade hangi secenekte dogru
olarak verilmigtir?

[ Itis on the Vatan Road)
, t

A) Can you go to the hospital?

B) Who is in the hospital?

C) Where is the hospital?

D) How many hospitals are there in the city?

Kargilikli konugsmada verilen cevapta “O Vatan yo-
lundadir.” denmektedir. Bu cevaptan anlasildigina
gore cevap veren kisiye bir seyin nerede oldugu
sorulmustur. C segeneginde “Hastane nerede?” den-
mektedir.

Dogru yanit “C” segenegidir.



6. Sinif

English

<16. etkinlik “otlanlik

Asagidaki ifadelerde bog birakilan yerleri resimlere gére doldurunuz.

MOON STREET -

. NIGHT STREET

OLD STREET

BLUE STREET

avod NNS
133418 yvis

BIG STREET

avod HOv=4

| am in Moan Streal;
How can | get the
ginema?

| am in the hospital\
Can you tell me

the way to the train
. station, please?

YOU sz

! Can/Can't i




English

6. Sinif

¢020MLO OLCME - DEGERLENDIRME

-4

(1 - 4) sorularda verilen ifadeler segenek-

lerdeki hangi resmi ifade etmektedir?

1. “Cansu is in front of the house.”

A) _-"l\ B) : .
|

2. “The bottle between the glasses.”

A) ﬁ

I

. : | D) lll ‘

3. “Heis next to old woman.”
A)

4. ‘They are round the tree.”

2 A i B)

T

2 ' Can/Can’t };,#-.__ i

B) r»w

dir

He' Haiki Sazh

(5 - 8) sorularda segeneklerde verilen ifade-
lerden hangisi yanhstir?

5. A) izmiris in the west of Turkey.
B) Sinop is in the north of Turkey.
C) Samsun is in the south of Turkey.
D) Erzurum is in the east of Turkey.

6. A) Romania is in the north of Turkey.
B) Cyprus is in the west of Turkey.
C) The Black Sea is in the north of Turkey.
D) Adana is in the south of Turkey.

7. A) North Pole is in the north of the world.
B) Brasil is in the north of the world.
C) Awvustralia is in the south of the world.
D) South Pole in the south of the world.

B. A) Van Lake is in the east of Turkey.
B) Blacksea Region is in the south of Turkey.
C) Kusaadasi in the west of Turkey.
D) Kars is in the east of Turkey.

(9 - 12) sorularda konugma balonunda bos
birakilan yere hangi segenek uygundur?

e ——— e

- B

" Go along the street ana

[ tum on the second right. |

‘\&Post office in on the left.
— —

yr—

e

A) How many post offices are there?
B) How can | get the post office?

C) How old are you?

D) Can you go to the post office?
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6. Sinif

10. e T
3 ___Q'ﬂ'hera is the City ibrary ™

A) Itis nice.

B) The library is very big.

C) Itis near the cinema.

D) There are many books in the library.

1. ———— = 5
(Where are you from? )

i "_-- -
Mk e
AAsitintha ... ™ Yas, it I'E_.hhkﬁ
\ gf Tarkiye? /’ ! b —
S R Jo -:L-"_
— g
\:-.I 5

C) east

A) west

B) south

/’in:alya is in 'IHE‘\.I

“_south of Turkey

—

A) Where is Antalya

B) How can | get Antalya

C) Where are you from

D) Is the Antalya capital city of Turkey

‘T y Russia.
Ln1 fro Ru:‘ﬂ.—.ld;___,

D) north

Her Hakk Sakhdir

13.

14,

15,

16.

English

(13 - 16) sorularda verilen resimleri ifade
eden ciimle hangi segenekte dogru olarak
verilmistir?

G0 wige

A) ltis behind the cars.
B) Itis in front of the cars.
C) Itis under the cars.

D) It is between the cars.

a B | - e 3

- s w_

o T e el haer: r— J-P
— -
[P - - — -
— — r—

— v o I
- — - Pe— Fr - 5
[ e— — [P s e

— ;s S S—
e o - il

A) The Mediterraneen Sea is in the west of
Turkey.

B) The Eageen Sea is in the west of Turkey.
C) The Black Sea is in the south of Turkey.
D) The Salt Lake is in the east of Turkey.

Museum | Theatre | Library | Cinema

ISTIKLAL STREET

Post
Office

Shopping

School Centre

A) The school is between post office and
shopping centre.

B) The museum is near the school.
C) The cinema is next to the library.
D) The school is opposite of the cinema.

A) She is on her parents.

B) She is behind her parents.

C) She is round her parents.

D) They are behind their daughter.

| CanCan't )




COZOMLER

Verilen ciimlede “Cansu evin éniindedir.” den-
mektedir.  Resimleri inceledigimizde D
secgenegdindeki resimde Cansu’yu evin 6niinde
goriyoruz.

Dogru yanit “D” segenegidir.

Verilen cliimlede “Sise bardaklarin arasinda.”
denmektedir. Resimleri inceledigimizde A
secgenegindeki resimde siseyi bardaklarin
arasinda goériyoruz.

Dogru yanit “A” segenegidir.

Verilen cimlede “O, yagli kadinin hemen yanin-
dadir.” denmektedir. A ve B seceneklerinde yagh
kadin yoktur. D seceneginde yash kadinin
yaninda bir erkek yoktur.

Dogru yanit “C” segenegidir.

Verilen ciimlede “Onlar adacin gevresindedir.”
denmektedir. B se¢eneginde sincaplar adacin
cevresinde goriiyoruz.

Dogru yanit “B” segenegidir.

C seceneginde “Samsun Tirkiye'nin giineyinde-
dir.” denmektedir. Oysa ki Samsun, Tuirkiye'nin
kuzeyindedir.

Dogru yamt “C” segenegidir.

B segeneginde “Kibris Tirkiye'nin batisindadir.”
denmektedir. Oysa ki Kibris, Turkiye'nin gine-
yindedir.

Dogru yanit “B” segenegidir.

B segenedinde “Brezilya, Dinya'nin kuzeyin-
dedir.” denmektedir. Oysa ki Brezilya, Dunya’'nin
glneyinde yer almaktadir.

Dogru yanit “B” segenegidir.

B seceneginde “Karadeniz Bolgesi Turkiye'nin
glneyindedir.” denmektedir. Karadeniz Bdlgesi,
Turkiye'nin kuzeyindedir.

Dogru yamt “B” segenegidir.

Cevap veren adam; “Cadde boyunca git, ikinci
safa don postane sagda” demektedir. Bu
cevaptan anlasildigi Gzere diger adam postane-
ye nasil gidecegini sormustur.

Dogru yanit “B” segenegidir.

10.

1.

12,

13.

14.

15.

16.

6. Sinif

Kiz “gehrin kitiphanesi nerede?” demektedir. A,
B, D seceneklerinde alakasiz cevaplar vardir. C
seceneginde ise “O sinemanin yanindadir.” den-
mektedir.

Dogru yanit “C” segenegidir.

Konusmada ilk kiz 6nce “nerelisin” diye sormak-
tadir. Digeri “Ben Rusya'danim” demektedir. Ik
kiz bu kez “O (Rusya) Turkiye'nin ...... midir?”
diye sordugunda digeri “Evet dyle” demektedir.
Rusya, Tirkiye'nin kuzeyinde olduguna gore ve
cevap olumlu olduguna gore, “Rusya, Turki-
ye'nin  kuzeyinde midir?" diye sorulmus
olmalidir.

Dogru yanit “D” segenegidir.

Verilen kargilikh konugsmada 6drenci “Antalya
Tirkiye’nin giineyindedir.” demektedir. Ogrenci
verdigi cevapta Antalya'nin yerini sdyledigine
gore 6gretmen ona Antalya’nin yerini sormus
olmaldir. A segeneginde “Antalya nerededir?”
denmektedir.

Dogru yanit “A” segenegidir.

A secenegdinde “O arabalann arkasindadir.”, B
segeneginde “O arabalarin o6nindedir.”, D
segeneginde “O arabalarin arasindadir.” den-
mektedir. Re sme gére dogru yanit D'dir.

Dogru yamt “D” segenegidir.

A seceneginde “Akdeniz Turkiye'nin batisin-
dadir.” denmektedir, yanhstir. C segeneginde
“Karadeniz Turkiye’'nin gliineyindedir.” denmek-
tedir, yanhstir. D segeneginde “Tuz Goéli
Turkiye'nin dogusundadir.” denmektedir, yan-
histir. B segenedinde “Ege Denizi Turkiye'nin
batisindadir.” denmektedir, dogrudur.

Dogru yanit “B” segenegidir.

A secgenedinde “Okul postane ve aligveris
merkezinin arasindadir.” denmektedir, yanhgtir.
B sec¢eneginde “Miize okulun yanindadir.” den-
mektedir, yanhstir. D segeneginde “Okul sine-
manin karsisindadir.” denmektedir, yanligtir. C
segeneginde “Sinema, kitiiphaneden sonradir.”
denmektedir, dogrudur.

Dogru yanit “C” segenegidir.

A segeneginde “O, anne babasinin Ustlindedir.”
denmektedir, yanlistir. B segeneginde “O, anne
babasinin arkasindadir.” denmektedir, yanhgtir.
C segeneginde “O, anne babasinin etrafin-
dadir.” denmektedir, yanlistir. D segeneginde,
“Onlar, kizlarinin- arkasindadir.” denmektedir,
dogrudur.

Dogru yanit “D” segenegidir.



6. Sinif
OLCME DEGERLENDIRME - 6

(1 - 6) sorulan asagidaki resme gore cevap-
layiniz.

1. Where is the refrigerator?

A) It is next to the oven.

B) Itis behind the oven.

C) ltis near the dishwasher.

D) ltis in front of the dishwasher.

2. Where is the dog?

©
A) ltis under the table. '§
B) Itis between the table é
C) ltis in the table. g
D) Itis behind the table. i
e

3. Where are the chairs?

They are behind the table.
They are in front of the table.
They are near the table.
They are round the table.

4. Is the oven between the refrigerator and the
dishwasher?

A) Yes, it is.
C) Not, it isn’t.

B) No, they aren't.
D) Yes, they are.

5. Yukaridaki resme goére segeneklerdeki ifade-
lerden hangisi yanlistir?

A) The glasses are on the table.
B

)

) The oven is next to the refrigerator.
C) The oven isn't near the refrigerator.

)

D) The plates are on the table.
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6. Where is the dishwasher?

A) It is behind the table.

B) It is between the refrigerator and oven.
C) lItis in front of the oven.

D) It is under the oven.

(7 - 10) sorularda verilen ifadeler hangi
segenekteki resmi ifade etmektedir?

7. “The dog is in its kennel.”

8. “The Honda is in front of the Toyota.’

"
B)
Py

&b’

C)
&

S
. ¥

Can/Can’t

o~




English

9. “Mitk is between water and coke.”

A) &= i 8 B)

c) . A D) i
& &

10. “The mosque is behind the school.”

A+ Bt B

C)

(11 - 16) sorularda verilen kargilikli konugma-
larda bog birakilan yerlere uygun diigen sozciik
ya da ifade segeneklerden hangisinde dogru
olarak verilmigtir?

1. —
A) west B) south C) east D) north
12. T
/“ltis in the north
........... \. of Turkey.
A) Kastamonu B) Adana

C) Mugla D) Ardahan

©

H r Ha ki Sa

13.

A) Yes, it is.
C) No, itis.

14.

15.

16.

A) No, itisn't / east
C) No, itisn’t / west

A) ltis very big.

6. Sinif

B) Yes, itisn't.
D) No, itisn't.

B) Yes, itis / south
D) Yes, itis / east

B) There are many hops in it.

C) Go along the street and turn on the first left.

It is on the right.

D) Yes, you can go there.

A) behind

B) east

C) right D) west



6. Simf English

QLCME DEG'ER&ENIM%E -7 4. “He can run very fast.”
B)

. | :
c) % D) £

(5 - 8) sorularda verilen ifadelerden hangisi
dogrudur?

(1 - 4) sorularda verilen ifadeler hangi sege-
nekteki resmi ifade etmektedir?

1. “We can go to the sea today.”

2. “There are two roses in the vase.” : A) There are some cheese in the plate.

A s
C)

B) B) There isn't any cheese in the plate.
C) There is some cheese in the plate.

D) There is any cheese in the plate.

| Her Hakki Saklidir

6. A) How many money have you got in your
pocket.

B) How many money have you got in your
pocket?

C) How much money have you got in your
pocket?

b
D) Wiy
¢

D) How some money have you got in your
pocket?

3. “Itis In front of the house.” T. A ] B)
W e

A) B)

A fish can swim,
A bear can fiy.
D)

ﬁa e

climb a tree




English , 6. Sinif

B.

A) She is behind the cinema.

A) The monkey is in front of the tree. B) She is in the cinema.
B) The monkey is behind the tree. C) She is near the cinema.
C) The monkey is near the tree. D) She is in front of the cinema

D) The monkey is in the tree. 12

(9 - 12) sorularda resimlere bakarak verilen
sorulara en uygun cevabin hangi segenekte ve-
rildigini bulunuz.
-

[ .

How much fuel is there in the tank?

A) There is some fuel in the tank.

(? B) There aren’t any fuel in the tank.
% C) There are some fuel in the tank.
e D) There isn’t any fuel in the tank.
@
= (13 - 16) sorularda verilen ifadelerden hangi-
T  siyanhstir?
How many birds are there in the cage? 13.A) A baby can drive a car.

B) There are seven geographical regions in

A) There is two birds in the cage.
Turkey.

B) There is three birds in the cage.
) : C) Trabzon is in the north of Turkey.

C) There are two bird in the cage. .
D) Birds can fly.

D) There are two birds in the cage.
14.A) There are some historical places in istanbul.
B) A girl can wear a skirt.
10. C) My sister is 20 years old. She can drive a

@l car.

D) Ankara is in the west of izmir.

15.A) There are some books in my bag.
B) There is some water in my glass.
C) There isn’t any orange juice in the bottle.
D) There is some penals in my pocket.

16.A) You can swim in summer.

B) Kocaeli is between Istanbul and Sakarya.
A) Yes, heis. B) No, he can't. C) There aren’t any lakes in Tirkiye.
C) Yes, he can. D) No, he isn't. D) People can’t live without wa .

Can he turn on the lights?

| Can/Can’t 3 r267



6. SInif

English

OLCME DEGERLENDIRME - 8§

(1 - 4) sorulan agagidaki tabloya gére cevap-
layiniz.

French | German | Spanish | English
MERVE S[ y/
Toea |/ v~ :
DERYA v il
06Uz |

1. Can Merve speak French?

A) Yes, she is.
C) No, she can't.

B) Yes, she can.
D) No, she isn't.

2. Can Derya and Merve speak English?

A) Yes, she can. B) Yes, they can.

C) Yes, they can't. D) Yes, they are.

3. Can Oguz speak French and German?

A) Yes, they can't.
C) Yes, he can.

B) Yes, they can.
D) Yes, he is.

4. Can Tolga speak English?

A) Yes, he can.
C) No, he isn't.

B) Yes, heis.
D) No, he can't.

268
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(5 - 8) sorularda resme bakarak segenek-
lerdeki ifadelerden hangisinin dogru oldugunu
bulunuz.

A) There are some people in the elevator.
B) There is some people in the elevator.
C) There are four person in the elevator.

D) There are any people in the elevator.

2

A) There is some coke in the bottle.
B) There aren’t any coke in the bottle.
C) There isn’t any coke in the bottle.
D) There isn’t any cokes in the bottle.

.

P
T

L4
A) There are an egg in the refrigerator.
B) There are some eggs in the refrigerator.

C) There is an egg in the refrigerator.
D) There aren't any eggs in the refrigerator.

Gan'Can't
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8. ™~ 1. - —
OW many san
; Qave you ;ﬂt_,.--?'}
| havan't got

e

A) There is any snow on the mountain.
B) There are some snows on the mountain.

S

-
A) two B) any C) some D)a

C) There isn’t some snow on the mountain.
D) There is some snow on the mountain.

(9 - 12) sorularda karsihkh konugmalarda
bog birakilan yerlere uygun diigen ifade hangi
segenekte dogru olarak verilmigtir?

9. s .
¢ wwrseens DrOtHETS ™ s s ,
“have you got?_/ (_Two ) : A) How many is it?

N & © B) Can | buy it?
5 C) Is there any chocolate?
3 D) How much is it?
£
©
=
e @
o & T
A) Are there B) How much (13 - 16) sorularda bos birakilan yerlere uy-
C) is there D) How many gun diigen ifade hangi segenekte dogru olarak
verilmigtir?
13. Cem and Samet ............... swim.
A)is B) cans C) are D) can
14. There ............. two books in my bag.
10. - A) some B) are C) any D)is
~Fow many ...,
Qﬁava you got? (mﬁ
e t
15. Thereisacar........... my house.
A) on B) between
C) in front of D) some
16. ... girls are there in your class?
A) pens B) money A) Are there B) How many
C) cheese D) milk C) Is there D) How much

Can/Can't | 269



6. Sinif English

OLCME DEGERLENDIRME - 9 4. Asagidaki cimlede bog birakilan yere uygun

gelen segenegi igaretleyiniz.

. l’ll
1. Asagida verilen diyalogda bos birakilan yere 77T iahavepvelgot:

uygun gelen segenegi igaretleyiniz. A) Some B) How much
B i, S ? C) Alot of D) How many

S: About 80 YTL.

A) How much does it cost to fly Ankara to Istan-
bul?

B) How often do you go to cinema?

C) What time does she wake up?

D) How do you usually came to school? @ ',ri‘v

i

5. Asagida verilen diyalogda bos birakilan yere
uygun gelen segenegi igaretleyiniz.

2 o
S \

- -
A : Can you play soccer?
B: No,!..... but/i. £ el play tennis.
PE g
= @ fj p A) can/can B) can’t/can
b= C) can/can't D) can't/can't
“She takes two sugars in her coffee.” ;
n
Yukarida verilen climleye uygun soru hangi =
segenekte sorulmusgtur? £
A) How many sugars do she take in her coffee? T 6. Asagida verilen diya!t?g?da bos l.)u.'akllan yere
B) How many sugars does she take in her cof- uygun gelen segenegi isaretleyiniz.
fee?
C) How many sugars do you want?
D) How many sugar does she take in her cof-
fee?
3. Iy
B : Can Mrs. Smith teach piano?
S: Yes,she ....coooocviviiniii,
38
> A) can B)is C) can't D) isn’t
Yukarida verilen resme gore ciimlede bosg
birakilan yere uygun gelen secgenegi igaret- 7. Asagida verilen diyalogda bos birakilan yere
leyiniz. uygun gelen secenegi igaretleyiniz.
O children have you got?” B: Can you and Mike fix cars?
S: No,we ..o
A) Some B) A lot of
C) How many D) How much A) are B) aren't C) can D) can’t
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B.

10.

Yukarida verilen resme gore ciimlede bos
birakilan yere uygun gelen segenegi isaret-
leyiniz.

“Cem is a small boy. He ........... drink milk, but
he ............ eat meat.”

A) can/can't B) can/can

C) can't/ can't

D) can't/can

Yukarida verilen resme gore ciimlede bos
birakilan yere uygun gelen segenegi isaret-
leyiniz.

“Acat can't swim, but .......................

A) it can catch a mouse.
B) it can play guitar.

C) it can catch an elephant.
D) it can sing a song.

Yukanda resme gore asagidaki ifadelerden
uygun olani igaretleyiniz.

A) A rabbit can eat meat.

B) A rabbit can speak.

C) A rabbit can run fast.

D) A rabbit can fly.

Can/Can’t

Sa

He* Ha

6. Sinif
o = M
- = Anihm Fefm e
v w E
F !
(11 - 15) sorulan haritaya bakarak tamam-
layimz?
11. “Vanis ............ of Turkey.”

12.

13.

14.

15.

16.

A) in the south
C) in the north

B) in the east
D) in the west

“lzmiris .............. of Turkey.”

A) in the south
C) in the north

“Antalyais .............

A) in the south
C) in the north

B) in the east
D) in the west

of Turkey.”

B) in the east
D) in the west

“Sinop is ............. of Turkey.”

A) in the south
C) in the north

B) in the east

D) in the west

“Ankarais ............. of Turkey.”

A) in the south
C) in the middle

B) in the north - east
D) in the west

4

W

Asagida verilen climleyi resme goére tamam-
layan segenedgi igaretleyiniz.

“It is winter now. .......... any leaves on the trees.”

A) There isn’t
C) Thereis

B) There are
D) There aren'’t

o718
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A

272

.............

Bosluklarn “some, any” ile doldurunuz.
(Her soru 2 puan)

Shehasgot .................. pens.

I haven’tgot ................ friends in Italy.
Have you got .................. friends in Italy?
Aslihasgot ................. friends in Italy.
Have yougot .................. money?

Bosluklan “how much, how many” ile dol-
durunuz. (Her soru 2 puan)

.................. water do you drink?
.................. sugar have you got?
.................. chees is there on the plate?
.................. onions are there in the basket?
.................. students are there in your school?

Yalnig yazilmig ciimlelerin altina dogru-
sunu yazinz. (Her soru 2 puan)

| can speaking English.

Verilen ciimleleri olumsuz ciimleye
geviriniz. (Her soru 2 puan)

She can go to the cinema.

©

Her Ha ki Sa dsdir

ZEKA KUPU ILKOGRETIM OKULU

5-

10-

English

SINIFI

YAZILI SORULARI
L

Verilen ciimleleri soruya geviriniz.
(Her soru 2 puan)

| can speak two languages.

....................................................... ?
They can read an English book.
....................................................... T
We can study two hours.
....................................................... i

Asagidaki sorulan cevaplayiniz.
(Her soru 4 puan)

Can dogs swim?

Bos birakilan yere dogru olan odanin ismini
yaziniz. (Her soru 2 puan)

We eat dinner in this room.

We sleep in this room.

We cook there. ..................

We have a shower there.
We watch T.V. in this room.

Can/Can’t



